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Section : General Knowledge

Q.1 In which part of India is the Deccan Plateau located?

Ans 1. southern
X 2. Western
% 3. Northern
X 4. Eastern
Q.2 Which country hosted the Annual Conference of the International Institute of
Administrative Sciences (IIAS) for the first time in 2025?
Ans x 1. United States
« 2. India
x 3. Belgium
x 4. United Kingdom
Q.3 What was the venue of the North Atlantic Treaty Organization summit, commonly called
as NATO, in 2024?
Ans x 1. New York, United States
x 2. Vilnius, Lithuania
* 3. Madrid, Spain

« 4. Washington DC, United States

Q.4 In which year was the All India Women’s Conference (AIWC) registered as a society?
Ans x1.1927

«2.1930

x 3.1935

x 4.1940

Q.5 Which of the following fundamental duties was added in 20027
Ans 1. Guardian or parent to provide education for children aged 6-14 years
« 2. Promote individualism for self-development
x 3. Value and preserve the rich heritage

x 4. Develop a scientific temper
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Q.6 In May 2025, which ministry issued a landmark decision to prohibit the use of several
medically important antimicrobials in India’s aquaculture sector to address

antimicrobial resistance (AMR)?
Ans x 1. Ministry of Agriculture and Farmers' Welfare
* 2. Ministry of Environment, Forest and Climate Change
x 3. Ministry of Health and Family Welfare

« 4. Ministry of Commerce and Industry

Q.7 In which present-day country was the Mughal ruler Babur born?
Ans  x 1. Turkmenistan

x 2. Afghanistan

« 3. Uzbekistan

x 4. Turkey

Q.8 Where was the Under-19 Cricket World Cup 2024, held?

Ans X 1. Australia
X 2. Pakistan
X 3. India
« 4. South Africa

Q.9 The Child Marriage Restraint Act was a legislative Act passed on 28 September 1929.

The Act fixed the marriageable age for girls at years and years for boys.

Ans x1.11;14
v 2.14;18
x3.12;16
x 4.13; 15
Q.10 Who among the following founded the ‘Brahmo Samaj’ (an important organisation for
religious reforms)?
Ans 1. Lord Curzon
« 2. Raja Rammohan Roy
x 3. Lala Lajpat Rai

x 4. Hardyal Singh
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0.11 Guru Nanak Dev Ji, who was the first Guru and the founder of Sikhism, was born at which

of the following places?
Ans x 1. Goindval
x 2. Patna
« 3. Talwandi

x 4. Amritsar

Q.12 Which of the given statements is accurate?

A) Since independence, the share of India's primary sector has declined, while the share
of secondary and tertiary sectors has increased.
B) This trend indicates that the Indian economy is transitioning from the agricultural

industry to the industrial industry.
Ans x 1. Neither A nor B
x2.0nly B
« 3. Both A and B
x 4.0nly A
Q.13 Parliament can exercise its power to legislate on a matter in the State List in the
national interest under which of the following Articles of the Indian Constitution?
Ans 1. Article 352
x 2. Article 356
x 3. Article 360

« 4. Article 249

0.14 The Pradhan Mantri Virasat Ka Samvardhan (PM VIKAS) scheme aims to:
Ans x 1. Provide assistance for skill development of OBCs and Nomadic Tribes
x 2. Offer scholarship schemes to students from Nomadic Tribes
x 3. Safeguard intangible cultural heritage
« 4. Provide livelihood opportunities to underprivileged minority communities
Q.15 Who addresses the Parliament every year at the commencement of the first session and
after each general election to the Lok Sabha in India?
Ans x 1. Chief Justice of India
¥ 2. Prime Minister of India
« 3. President of India

x 4. Chief Election Commissioner
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0.16 Which river creates Shivasamudram waterfalls?
Ans x 1. Mahanadi

x 2. Ganga

« 3. Narmada

« 4. Kaveri

Q.17 Who administers the oath of office to the members of Lok Sabha?
Ans x 1. Speaker of the Lok Sabha

x 2. Chief Justice of India

« 3. President

x 4. Vice President

Q.18 Who among the following secured a silver medal for India at the Paris Olympics 2024?
Ans 1. Neeraj Chopra

x 2. Sarabjot Singh

x 3. Manu Bhaker

« 4. Vinesh Phogat

Q.19 On which river was the Pong Dam constructed?
Ans 1. Beas

x 2. Narmada

x 3. Mahanadi

x 4. Tapi

Q.20 In ancient India, what was an Agrahara in the context of land grants?
Ans x 1. Land reserved for construction of royal gardens

x 2. Land allocated to merchants for trade expansion

x 3. Land gifted to warriors for military achievements

« 4. Land donated to Brahmins by kings or patrons

Section : Logical Reasoning
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Q.21 Based on the English alphabetical order, three of the following four letter-cluster pairs
are alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT
belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter-cluster.)
Ans x1.LO-SX
x 2.HM - OT
x3.BG-IN
v4.CG-JL
Q.22 Ina certain code language,
G+ T means ‘G is the father of T*;
G- T means 'G is the sister of T',
G x T means 'G is brother of T,
G + T means ‘G is the daughter of T".
Based on the above, If P+ Q - L + N x M, then how is P related to L?
Ans  x 1. Brother's daughter
X 2. Mother
X 3. Father
« . Sister’s daughter
Q.23 Two sets of numbers are given below. In each set of numbers, certain mathematical
operation(s) on the first number results in the second number. Similarly, certain
mathematical operation(s) on the second number results in the third number and so on.
Which of the given options follows the same set of operations as in the given sets?
(NOTE: Operations should be performed on the whole numbers, without breaking down
the numbers into their constituent digits. E.g. 13 — Operations on 13 such as adding /

subtracting / multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and

then performing mathematical operations on 1 and 3 is not allowed.)

13-23-46-50; 14-24-48-52
Ans o 1.12-22-44-48

X 2.16-26-54-58

x 3.15-25-60-64

x 4.17-27-54-64
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Q.24 Refer to the following letter series and answer the question that follows.
(Left) BEWUHBTHFEAS)JXKZUWHTG (Right)

If all the vowels are dropped from the series, then which letter will be seventh from the
right?
Ans x1.S
x2.)
x3.K
v 4. X
Q.25 Each vowel in the word COLLEGE is changed to the letter following it in the English
alphabetical order and each consonant is changed to the letter preceding it in the

English alphabetical order. Which of the following letters will be first from the right in

the new group of letters thus formed?
Ans x 1.V
x2.D
x3.C
w4 F
Q.26 What will come in place of the question mark (?) in the following equation if *x” and ‘-’

are interchanged and ‘+” and ‘+’ are interchanged?
192 +4-3+14x41=7?

Ans 1117
x 2.140
x 3.129
x 4.134
Q.27 If I’ stands for ‘+’, ‘K’ stands for ‘x’, ‘L’ stands for ‘+’, and ‘M’ stands for ‘-, then the
resultant of which of the following would be 69?7
Ans 1. 120M66L30)2KI1
x2.144K1)J3M36L6
x3.90L45M18K?2]J3

x4.108)2M24L12K3
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Q.28 What will come in place of the question mark (?) in the following equation if *x* and ‘-’
are interchanged and ‘+” and ‘+’ are interchanged?
174 +6-33 +51x50 ="

Ans . 1.958
X 2.936
x 3.925

x 4.943

Q.29 Refer to the given letter series and answer the question that follows. Counting to be

done from left to right only.
(Left) QJZGAIOQRSITVAWXYPU A (Right)

How many such vowels are there, each of which is immediately preceded by a consonant

and also immediately followed by a vowel?
Ans x 1.Three
« 2. Two
x 3. Five

x 4. Four

Q.30 KK 27 is related to LI 14 in a certain way. In the same way, OD 21 is related to PB 8. To

which of the given options is TC 9 related, following the same logic?
Ans x1.UB-6
v 2. UA-4
x 3.TA -4

x4.TB -6



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

31 Identify the figure given in the options which when put in place of the question mark (?) will logically
Q. complete the series.

HITTOHHIHTOOHI|ITOOONIIOOOO!l 2

Ans 1.
x |l OO ||

v |O0000

x (IO

x [1OOOI]

Q.32 Six people, G, H, I, J, S and T, are sitting around a circular table, facing the centre of the
table. I sits to the immediate right of G. T sits third to the left of J. H sits to the
immediate right of T. S is not an immediate neighbour of T. How many people sit

between S and G when counted from the right of S?
Ans 1. 0ne

x 2. Two

x 3. None

x 4. Three

Q.33 What should come in place of the question mark (?) in the given series?

300, 350, 450, 600, 800, ?
Ans x 1.1000
¢ 2.1050
% 3.900

x 4.950
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Q.34 Select the set that follows the same pattern as the one followed by the two sets given

below. Both sets follow the same pattern.

LO - NQ - PS
G) - IL - KN
Ans 1. WZ-YB-AD
x2.WZ-YB-BE
x3.VA-YA -AD
x4.VA-7B-BD
Q.35 What should come in place of *?" in the given series?

173 174 176 179 183 *

Ans x 1 |gg
X2 187
x 3. 180
v 4 188
Q.36 Three of the following four word-pairs are alike in a certain way and thus form a group.
Which word-pair DOES NOT belong to that group?

(The words must be considered as meaningful English words and must not be related to

each other based on the number of letters/number of consonants/vowels in the word.)
Ans 1.Time - Joule
% 2. Temperature - Kelvin
x 3. Distance - Metre
x 4. Mass - Kilogram
Q.37 Which of the following letter-clusters should replace # and % so that the pattern and
relationship followed between the letter-cluster pair on the left side of :: is the same as

that on the right side of :: ?
#:BIR::JNR: %

Ans x1.#=KJF, % = OPK
x 2. #=CJS, % = GKO
x 3. # = AHQ, % = GKM

& 4. % =DKT, % =HLP
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Q.38 Select the set in which the numbers are related in the same way as are the numbers of

the following sets.

(NOTE : Operations should be performed on the whole numbers, without breaking down
the numbers into its constituent digits. E.g. 13 — Operations on 13 such as adding /
subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and

then performing mathematical operations on 1 and 3 is not allowed)

(1,10,14)
(24,9,105)

Ans . 1.(15]14,74)
x 2.(15,23,63)
x 3.(13,33,75)
x 4.(18,15,47)
Q.39 Six boxes A, B, C, D, E, and F are kept one over the other but not necessarily in the same
order. D is kept third from the bottom. Only two boxes are kept between E and C. D is
kept immediately below E. Only one box is kept between F and E. Only two boxes are

kept between A and B. F is kept immediately above B. Which box is second from the
bottom?

Ans x1.F
x2.C
¢ 3. A
x4.B
Q.40 Each vowel in the word STEAMING is changed to the letter immediately following it in
the English alphabetical order and each consonant is changed to the letter immediately

preceding it in the English alphabetical order. Which of the following letters will appear

exactly twice in the group of letters thus formed?
Ans x1.L
x2.M
¢3.F

x4.R

Section : General English and Comprehension
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Q.41 Select the most appropriate ANTONYM of the given word.

Erratic
Ans x 1. Free
x 2. Right
3. Punctual

« 4. Regular

Q.42 Select the option that can be used as a one-word substitute for the given group of

words.

The action of deceiving someone
Ans x 1. Induction
« 2. Deception
x 3. Seduction
« 4. Deduction
Q.43 Select the most appropriate meaning of the given idiom.
Bite the bullet
Ans 1. To avoid a difficult situation
« 2. To face a difficult situation bravely
x 3.To get into an unnecessary argument

x 4. To make a mistake

Q.44 Select the most appropriate option to fill in the blank.

Hehada _ cottage outside the town.
Ans x 1. prickly
« 2. little
% 3. narrow

x 4. barren

Q.45 Select the most appropriate option to fill in the blank.

The kitten looked so  that everyone wanted to take it home.
Ans x 1.grumpy
x 2. brave
« 3. Cute

x 4. lazy
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Comprehension:

Read the given passage and answer the questions that follow.

Plastic pollution is one of the most pressing environmental challenges today. Every year, over 8
million tons of plastic waste end up in oceans, severely affecting marine life. Sea turtles, whales
and birds often mistake plastic for food, which can block their digestive systems and cause death.
Apart from harming animals, plastic pollution affects humans as well. Microplastics, which are tiny
plastic particles, have been detected in drinking water, seafood and even in the air we breathe. This
raises significant health concerns. The root cause lies in the widespread use of single-use plastics
—Ilike straws, bags and packaging—that take centuries to degrade. In response, several countries
have introduced bans or taxes on plastic items, while others promote sustainable alternatives such
as cloth bags and reusable containers. However, real change depends not just on policy, but also
on individual behaviour. By reducing, reusing and recycling, each person can contribute to a

cleaner and safer planet.

SubQuestion No : 46
Q.46 Which of the following is a fact stated in the passage?
Ans x 1. Plastic completely disappears in 10 years.

« 2. Microplastics are found in food and water.

» 3. All countries have banned plastic use.

4. Only animals suffer from plastic waste.
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Comprehension:

Read the given passage and answer the questions that follow.

Plastic pollution is one of the most pressing environmental challenges today. Every year, over 8
million tons of plastic waste end up in oceans, severely affecting marine life. Sea turtles, whales
and birds often mistake plastic for food, which can block their digestive systems and cause death.
Apart from harming animals, plastic pollution affects humans as well. Microplastics, which are tiny
plastic particles, have been detected in drinking water, seafood and even in the air we breathe. This
raises significant health concerns. The root cause lies in the widespread use of single-use plastics
—Ilike straws, bags and packaging—that take centuries to degrade. In response, several countries
have introduced bans or taxes on plastic items, while others promote sustainable alternatives such
as cloth bags and reusable containers. However, real change depends not just on policy, but also
on individual behaviour. By reducing, reusing and recycling, each person can contribute to a

cleaner and safer planet.

SubQuestion No : 47
Q.47 What is the most appropriate title for the passage?
Ans x 1. The Uses of Plastic in Daily Life
« 2. The Growing Threat of Plastic Pollution
x 3. The History of Recycling

% 4. Marine Life and Climate Change
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Comprehension:

Read the given passage and answer the questions that follow.

Plastic pollution is one of the most pressing environmental challenges today. Every year, over 8
million tons of plastic waste end up in oceans, severely affecting marine life. Sea turtles, whales
and birds often mistake plastic for food, which can block their digestive systems and cause death.
Apart from harming animals, plastic pollution affects humans as well. Microplastics, which are tiny
plastic particles, have been detected in drinking water, seafood and even in the air we breathe. This
raises significant health concerns. The root cause lies in the widespread use of single-use plastics
—Ilike straws, bags and packaging—that take centuries to degrade. In response, several countries
have introduced bans or taxes on plastic items, while others promote sustainable alternatives such
as cloth bags and reusable containers. However, real change depends not just on policy, but also
on individual behaviour. By reducing, reusing and recycling, each person can contribute to a

cleaner and safer planet.
SubQuestion No : 48
Q.48 What can be inferred from the passage?
Ans x 1. Plastic does not affect air quality.
« 2. Individuals have no role in environmental protection.
« 3. Reducing plastic use at an individual level'is important.

x 4. Plastic pollution can only be solved by scientists.
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Comprehension:

Read the given passage and answer the questions that follow.

Plastic pollution is one of the most pressing environmental challenges today. Every year, over 8
million tons of plastic waste end up in oceans, severely affecting marine life. Sea turtles, whales
and birds often mistake plastic for food, which can block their digestive systems and cause death.
Apart from harming animals, plastic pollution affects humans as well. Microplastics, which are tiny
plastic particles, have been detected in drinking water, seafood and even in the air we breathe. This
raises significant health concerns. The root cause lies in the widespread use of single-use plastics
—Ilike straws, bags and packaging—that take centuries to degrade. In response, several countries
have introduced bans or taxes on plastic items, while others promote sustainable alternatives such
as cloth bags and reusable containers. However, real change depends not just on policy, but also
on individual behaviour. By reducing, reusing and recycling, each person can contribute to a

cleaner and safer planet.
SubQuestion No : 49
Q.49 What is the central theme of the passage?
Ans x 1. The advantages of plastic products
% 2. How animals adapt to pollution
x 3. Government policies on trade

« 4. The impact of plastic pollution on the environment and health
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Comprehension:

Read the given passage and answer the questions that follow.
Plastic pollution is one of the most pressing environmental challenges today. Every year, over 8
million tons of plastic waste end up in oceans, severely affecting marine life. Sea turtles, whales
and birds often mistake plastic for food, which can block their digestive systems and cause death.
Apart from harming animals, plastic pollution affects humans as well. Microplastics, which are tiny
plastic particles, have been detected in drinking water, seafood and even in the air we breathe. This
raises significant health concerns. The root cause lies in the widespread use of single-use plastics
—Ilike straws, bags and packaging—that take centuries to degrade. In response, several countries
have introduced bans or taxes on plastic items, while others promote sustainable alternatives such
as cloth bags and reusable containers. However, real change depends not just on policy, but also
on individual behaviour. By reducing, reusing and recycling, each person can contribute to a
cleaner and safer planet.
SubQuestion No : 50

Q.50 What is the tone of the passage?

Ans x 1. Critical and judgemental

« 2. Informative and cautionary

x 3. Uncertain and doubtful

% 4. Humorous and light-hearted

Section : General Hindi and Comprehension

Q.51 'gg' BT faeliy oI=g T 8-

Ans x 1.8
x 2.8R
X3
WYRCE|

0.52 fEfeaf@d cieifte &1 Al 31 ggar|
Sil (g @Y, adl 19 fBard

Ans  x 1. TSRY 7 1 9l & a8 3T ugA|
« 2. 31 377G ofdT &, I8 aRem off &1
X 3. 30 R BT & 39 & I fe@r|
X 4. A 37 g4 418 RIS BT

Q.53 & F R ereq g

Ans  x 1901
X 2.7 ]
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X 4. 7R
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Q.54

Ans

Q.55

Ans

Q.56

Ans

247

JAgad dgd dslalsdl glsHa@ A =g fopar faQyor
o 1.d3
x2.8
x 3. arsdl
x 4.98d
fafaf@d aieife &1 a8 A ggar-|
S5 & STl | fdecdl 2R
x 1. R BT =1 qR &7 I
x 2. SR I 3T 5PTeT F &em B
3. Bl 3778 § 8I¢ 3McH! 98 A8 31d &l
X 4. 3PTel § I8 I el gl
Comprehension:

fAgfaRad srerer &1 Ugd: fGu 7T udl & 3R §IfFiv |

WORPTA &Y I H7F P YT @1 drel 51 3R IRBRI P e Pad &1 T & 4 307el 4l Bt wrArakd
BT i A& T YA B Ufebn Bl g1 3refd e o & ey fopar of &t 81 e & WY adafde o
PI SNEAT 33 fIAY 379f YT Bl &1 ARATID A 7 §1d W SR Sl & b TTSIebH U 39! Fraferd

TR gav fRren R €2 Ui &I I bR NYFAP Blel ddb AL b Wq®Y, 3593, A8 ATfE 9= 7=l gelt
Y8 8 U9 W9 3P dRARS WRY Bl GIsT- BT YA 351 ST 387 &1 91Rd S B g 3 7 fen 4

faTha’ BT &1 aab? ST T Hedl IR e faT 27| aRafde fRuem a8l 2t & 37 gfeh a1 Al yar & | gfe
BT 372 AT AR J Tl 3 o] H fordn Sirel & uvq 19 &1 3R 39 Yl R 78 7f0q e & Ay

SNfaeT 3uTstH Td eff 3 AT I Hewl W &l
SubQuestion No : 56
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Comprehension:

fAgferRad sTerier &l Ygdbr fGu 10 Y2 & 3R SIfaTv |

RORPTA &9 F T B U @17 ael 519 3R IRBRI BT A& Bl &1 A1 & & 307elt Nl BT wHiaRd
BT T A& T B & ufeban Bl g1 3refd e o & ey fopar off & 1 e & wy ardafde o=
Bl g1 3 AT 372 YT Bl &1 Adfdes S 3 a1 R SR el & & U1SerspH U 37ebT y=ifeid
TR I 3o fren R 82 T BId I TTB NS Bl aob 18l P IJa®Y, 3899, T8 S IR ==l &relt
Y8 § Ud U&d 3P RAfIS WY P W BT GAT AT AT 38T 81 9 & B gy 3w fyen ar
B BT ST B fAen &6 Hedl IR g e o | arafad e ol &t € i gfts 1 uef et &v gt
BT 372 ATHIIT AR A Gl 3 Iesf H fordn Sirdl & uvq 13 &1 5 39 qeig R 98 1f0q e & e
SNIeT 3154 Td e b B! bl Hgdl T &l

SubQuestion No : 57
Q.57 AP st PT [qeld e § d gedR Auferf@d eyl 7 3 g -
Ans ;(1.?12H2f
x 2. JWBR
3. Adfd®e
x 4. 1FiaRd

Comprehension:

fAgfeIfad sTerier &l Ygdbr AU 310 Yo & 3R SIfIrv |

WRYRPTA Y I AT B Y16 @1 I S 3R IRBRI B 8T Pad &1 T & 4 307l il 1 WriaRkd
B off 181 T B Bl Uik &l 21 372 18 B & el fobm off @il 1 A& &b A1 adfdep s
Bl ST 3 AT 3¢ gard Bl | arfaes A8 39 &1d TR SR ol & fob ISIghH Ud 33eb! Yiferd
TR & gav fRren R €2 Ui &Il I A A1 BleT db AL b W®Y, 3593, &g HA1fe 9= =i gt
& & U9 W 37 qIAfdD TR Bl WIS BT TATT a1 ST 8T &1 MR B By g J <7 e a1
B &1 S B frer &1 Hel IR ac e of| arafad frer agl &t € S gfth &1 uef uer- & gt
BT 372 AHTAT HAR A Gl 3 Ieof  fordn Sirem & uvq 13 &1 5k 39 qelig R 78 31f0q e & ey
SNfaeT 3uTsi9 wd enf 3 AT I Al W &l

SubQuestion No : 58
Q.58 UIURIITd ®Y I fIran frd dad &2

Ans  x 1. Pdc g Tl
X 2. bad s BT 37511
% 3. B PRI Bl 37511
@ 4. 3T 3R BRI BT 3751 31R 3PTelt digl &Y RTATIRT BIAT
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Comprehension:

fAgferRad sTerier &l Ygdbr fGu 310 Y2 & 3R SIfaTv |

WURPTd §Y I A DI I & I 519 R IAIBRI B AT Bgd &1 T & 29 30Tell it 1 RidRd
BT T A& T B & ufeban Bl g1 3refd e o & ey fopar off & 1 e & wy ardafde o=
Pl 33T 33 fAAY 379f YT Bl &1 ARATID A 27 91d W SR el & b TTS=IcbH U 37! Fraferd
TR & gav fren R €2 Ui &Il I A YD BleT db AL b W8, 3593, e A1fE 9= 7=l gt
8 & U9 WA 37 AR TR Bl @I BT YA 31 ST 8T &1 9Rd S B g J a1 fJen a1
B BT ST B fAen &6 Hedl IR g e o | arafad e ol &t € i gfts 1 uef et &v gt
BT 372 ATHIIT AR A Gl 3 Iesf H fordn Sirdl & uvq 13 &1 5 39 qeig R 98 1f0q e & e
SNIeT 3154 Td e b B I Hgdl I &l

SubQuestion No : 59
Q.59 T faem a1 faywma” &1 @ 31 &2
Ans x 1.9 fden & s f faem
x 2. 98! faer & 5 e uer B
» 3. 81 {3 ¢ S gfh faare
x 4. 38 f3en & 3 s U &

Comprehension:

fAgfeIfad sTerier &l Ygdbr AU 310 Yo & 3R SIfITv |

WIRPT ¥ I H BT T & dTl 319 3R ABRI BT AT Bad &1 A1 & 2 3PTel dieT BT RTraRd
B off 181 T B Bl Uik &l 21 372 18 B & el fobm off @il 1 A& &b A1 adfdep s
Bl S5 53 AT 37¢f YT Bl &1 ardfdes fAST S &1 UR SR el & o qreishH U 3FebT y=ifeid
fafert & ga= e &1 &2 W STl I ABR MYAS BTl b AT S W™, 3899, A8 37 IR 7=l &l
I8 & Ud &d 3P aRAfdd WaRY Pl QI BT GATN AT AT 6T 81 9k B By GG T e ar
B &1 S B frer &1 Hel IR ac e of| arafad frer agl &t € S gfth &1 uef uer- & gt
BT 37 AHIE FAR F G b Hao H ford Sira1 ¢ 9 f3e &1 SR 39 Iend= 4R el AU e & Ay
ST 3uTsi= vd enf 6 HHf & Hel IR &l

SubQuestion No : 60
Q.60 &Y & FAR Yb &1 arvafas 3¢ 1 82
Ans 1. & & J1Y ST 3UT 3R & b pH
X 2. B & BIAT
X 3. TR I I
X 4. I HI& B uIftd

Section : Basic Knowledge of Computer
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Q.61 Which of the following is NOT a type of computer virus?
Ans x 1. Browser Hijacker

x 2. File Infector

x 3. Boot Sector

« 4. Trojan

Q.62 Which of the following options would a user use to automatically resize a column’s
width to fit the content in MS Excel 2019?

Ans x 1. Use the ‘Text Wrap’ feature.
x 2. Click ‘Save As’.

« 3. Double-click the boundary on the right side of the column header.

x 4. Press Ctrl + Alt + Delete.

Q.63 Why is it important to be cautious when clicking on links in unsolicited messages (SMS,

email or social media) on a smartphone?
Ans x 1.1t will slow down the phone’s processor.
% 2. It might increase the phone’s temperature.
« 3. It could lead to phishing attacks or malware installation.
x 4. It will consume too much mobile data.
Q.64 Which of the following options is NOT affected by changing the template in an MS
PowerPoint 2010 presentation?
Ans x 1. Font style and size
« 2. Slide transitions and animations
x 3. Slide background and design

« 4. Slide content like text and images

Q.65 Antivirus software is an example of a/an .

Ans X 1. operating system program
X 2. system library program
X 3. user log program
« 4. security utility program
Q.66 What happens if a user inserts a new row between two existing rows that contain
formulas referring to each other in MS Excel?
Ans x 1. MS Excel prompts you to update the formulas.
% 2. The formulas break and need to be manually adjusted.
« 3. The formulas automatically adjust to include the new row.

% 4. The new row is ignored by the formulas.
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Q.67 In MS Word, which of the following actions differentiates 'Save' from 'Save As' when

working with documents?

Ans x 1.'Save'is only available in the File menu, whereas 'Save As' can only be accessed from the

Quick Access Toolbar.

x 2.'Save' creates a backup copy of the document, while 'Save As' archives the document in a

compressed format.

« 3. 'Save' overwrites the existing document without changing its location or name, while 'Save

As' allows the user to save a copy of the document with a new name and/or location.
x 4.'Save' is used to store a document for the first time, while 'Save As' is used to close the
document automatically after saving.
Q.68 Which of the following actions can help protect your smartphone from malware?
Ans x 1. Disabling your antivirus app
« 2. Downloading apps only from official app stores
x 3. Connecting to public Wi-Fi networks without a VPN

x 4. 1gnoring software updates

Q.69 How can a user search for specific help topics in MS Word's Help feature?
Ans x 1. Use the 'File' tab

« 2. Use the 'Search' box in the Help window

¥ 3. Use the 'Insert' tab

x 4. Use the 'Review' tab

Q.70 Which of the following is NOT a benefit of using a local area network (LAN)?
Ans x 1. Improved security

¥ 2. Increased bandwidth

x 3. Reduced data redundancy

« 4. Increased scalability
Q.71 Inthe email terminology, what does “Bec’ refer to?
Ans  x 1. Backup Carbon Copy

X 2. Broadcast Carbon Copy

X 3. Bulk Carbon Copy

« 4. Blind Carbon Copy
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Q.72 What is the term for the part of an email address that appears to the left of the '@’
symbol?

Ans 1. Username
x 2. Last name
x 3. Domain name

x 4. First name

Q.73 Which of the following features is NOT a characteristic of the Windows 0S?

Ans x 1. User-friendly Graphical User Interface (GUI) with desktop and taskbar
« 2. Complete open-source nature, allowing users to modify and distribute the OS freely
x 3. Compatibility with a wide range of hardware and software applications

x 4. Support for multitasking, allowing multiple applications to run simultaneously

Q.74 What is the primary difference between replying to an email and forwarding an email?
Ans x 1. Replying sends the email to multiple recipients, while forwarding sends it to one.

x 2. Replying deletes the original email, while forwarding keeps it.

« 3. Replying sends the email to the original sender, while forwarding sends it to a new recipient.

x 4. Replying sends a copy of the email to yourself, while forwarding does not.

Q.75 In Windows OS, where are the files and folders stored on a computer?
Ans x 1. Office

x 2. Cloud

x 3. System

« 4. Drives
Q.76 Which of the following is NOT a good way to set a sectre password?

Ans  x 1. Keeping it big in length
X 2. Using special characters
X 3. Using a combination of upper case and lower case letters

« 4. Using personal information

Q.77 What does a relative cell reference in MS Excel do?
Ans 1. Refers to a cell in another worksheet

x 2. Refers to a cell with absolute addressing

x 3. Refers to a fixed cell

« 4. Refers to a cell relative to the current position
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Q.78

Ans

0.79

Ans

0.80

Ans

Q.81

Ans

0.82

Ans

When we apply a new template, which of the following will NOT automatically update in
MS PowerPoint?

« 1. Slide transitions
x 2. Chart styles
x 3. Text placeholders

x 4. Slide layouts

In Microsoft Word, what colour underlining is used to show a grammatical error?
« 1. Green

x 2. Yellow

x 3. Red

x 4. Blue

When changing the system date and time on a computer, which of the following
elements of the operating system allows users to modify and set the current date and

time settings?
x 1. Taskbar
x 2. Device Manager
« 3. Control Panel

x 4. File Explorer

Section : Quantitative Aptitude

The ratio of the present ages of Riya and her father is 2 : 7. After 9 years, this ratio
becomes 3 : 8. What is the present age of Riya?

x 1. 26 years

« 2. 18 years

x 3. 12 years

x 4.15 years
There were only two candidates in an election. 62% of all voters in the list supported
the winner, who received 6,874 more votes than his opponent. According to the records,

20% of the voters on the list did not cast their votes, and 450 voters left their ballot

paper blank. The total number of voters on the list is:
x 1.15,700
v 2. 14,600
x 3.13,990

x 4.15,000

247
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Q.83 Five years ago, a man was eight times as old as his son. Five years hence, the man will be
three times as old as his son. What will be the difference (in years) between the man’s

age after 13 years and the son’s age after 7 years from now?
Ans x1.30
x2.22
v3.34

x 4.28

0.84 Evaluate: 1850 - [450 - {210 - (90 - 70 - 11)}]
Ans  x1.1531

¢ 2.1601

x 3.1676

x 4.1461

Q.85 The combined monthly income of two persons, A and B, is ¥55,000. They spend 60% and
80% of their respective incomes, and their savings are in the ratio of 5 : 3. Find the

income (in ¥) of A.
Ans x1.23,000
x 2.22,000
¢ 3.25,000

x 4.24,000

Q.86 An item is marked 164% higher than its cost price. Even after allowing some discount,
the shopkeeper earned 32% profit. Find the discount percentage allowed by the
shopkeeper.

Ans  x1.47%
v 2.50%
x 3.51%
x 4. 48%
Q.87 Ramya purchased a tie, a wallet and a shirt for her father on his birthday. She got a 7%
discount on the wallet, 9% discount on the tie and 10% discount on the shirt. The

marked prices of the tie and wallet were ¥800 and ¥1,600, respectively. If she paid
¥4,331 for all the three items, then what was the marked price of the shirt (in ¥)?

Ans x1.2,250
x 2.1,800
« 3.2,350

x 4.2,500
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0.88 Simplify V20+ 245+ V180 — V320

Ans X1 1045

X2 9435

X3 65

v 4 75
0.89 If 4% of x =180, then x =?
Ans 14500

x 2.9000

x 3.9100

x 4. 4600

Q.90 The sum of five numbers is 655. The average of the first two numbers is 76 and the third

number is 112. Find the average of the remaining two numbers?
Ans x1.189
x2.188
v 3.195.5

x 4.196.5

Q.91 The sum of 8 numbers is 624. Find their average.
Ans x1.79

x2.76

x3.77

v 4.78

0.92 If 63.27 + x = 96.92, then find x.
Ans x1.33.75

x2.3315

« 3.33.65

x 4.33.25

Q.93 Two pipes A and B can fill a tank in 18 hr and 30 hr, respectively. If both the pipes are

opened simultaneously, then how much time will be required to fill the tank?
Ans 1. 11 hr15min
% 2.12 hr 25 min
% 3.10 hr 30 min

% 4.15 hr 15 min
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6
O By selling an article at 3 of its actual selling price, Ramesh incurs a loss of 15%. If he sells it at 84% of its actual selling price

- then the profit percentage is:

> » O

x 1.54.5%

=}

x 2.56.6%
@ 3.54.7%

x 4.56.7%

Q.95 What is the total percentage decrease in the area of a rectangle, if its length and

breadth are decreased by 10% and 15%, respectively?
Ans ,1.235%

x 2.24.5%

x 3.24%

x 4.25%

Q.96 Simplify the given expression.
(132_52)1.5;,(3%
Ans x 1.3416
¢ 2.6912
x 3.3456
x4.1728
Q.97 What is the relative speed (in km/h) of the trains when they move in opposite directions
with a speed of 27 km/h and 45 km/h, respectively?
Ans x1.18
v2.72
x3.77

x4.75

Q.98 Two pipes, A and B, can fill a cistern in 35 minutes and 45 minutes, respectively. Both
pipes are opened simultaneously. The cistern will be filled in just half an hour if pipe B is

turned off approximately after
Ans x 1.6 minutes
« 2. 6 minutes 25 seconds

* 3.5 minutes 45 seconds

x 4.7 minutes
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Q.99 The original price of a music set is ¥8,100. The price is discounted by 16% and then
raised by 25%. What is its new price (in ¥)?

Ans x1.7,805
« 2.8,505
x 3.8,005
x 4.9,005
Q.100 Chandu covers 706 km in a boat in 30 hours against the stream and he takes 12 hours
with the stream. Find the speed of the stream.
Ans x1.10.07 km/hr
x 2.23.47 km/hr
% 3.9.31km/hr

« 4.17.65 km/hr
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